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1. (23 pts) When 5.000 g of a hydrocarbon is combusted, the combustion is incomplete, forming carbon
dioxide, water, and carbon monoxide. The water is absorbed by calcium chloride in a dessicator, which
gains 6.432 g in the process. The carbon dioxic: is absorbed by lithium hydroxide, which gains 11.125 g.
a. (5 pts) What is the empirical formula of the unknown compound?
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b. (3 pts) At 25“C It 000 g ofthe compound is introduced to an'empty 1.000-L flask. Tlle pressure of

] 2 HH ) the gas is 663 torr. What is the molecular mass of the compound?
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c. (3 pts) What is the molecular formula of the compound?
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d. (3 pts) Draw a Lewis structure for this compound and name it.
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e. (3 pts) Label the type of hybridization present in each carbon in your Lewis structure.
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f. (3 pts) How many pi bonds are present in the molecule you have drawn in part d?
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g. (3 pts) How many sigma bonds are present in the molecule you have drawn in part d?
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